#3508 ZHTEIEHE FRIZOWVT

1 BEEIS FRRFEZHHT—RIHABETE(E7S)

BABHIEBE (BENOB) (B3 (BE#DE)
38,117, 738FH + 49,026FH = 38,166,764+ H
UHE D F:7275 B LR i)
— TR )

. ; AHRES | e m T g | zof | s
(DHEEME (11F5) 288,449 22,619 2,168] 263,662
QKA L (14553E) A 239,423 A 17,125 A 159,100 A 63,198

fHIERA §F 49,026 5,494 0/A 156,932 200,464

[ A T RO IE (— RO FE2b0) ]

D A HEFRZFE A 50,000FH
1,900,000 T-F — 1,850,000 T-F = A50,000 T FiAZJIZ

@ 3 FFR 91,978 FHM
WS AT 2,098,000 -1 — 2,189,978 TH = 91,978 TH #EIZLS

Q BN TALE 31,000FH

TENT R K O 7RI AT @ OPUIUZ L DA
0ftH —  31,000FH = 31,000

@ FIEERES 217,815FH
191,166 TF — 408,981 TH = 217,815 TH fElcLd

&5

® FDO U A (—HEEARHE X %8) A90,329FH
—AREARAEY%E &t 200,464FH
[T ROMIE]
(1) IBEHEMNEROELELD # 288,449FH
D BEELEIS 204.491FH

(— %S (Rl 42) 204,491)
7 I BOEE SR TS DO HLE I SSFENT 2948 B 2BV 37 46408,981 T-F X 1/2
320 — 204,811 TH = 204,491 TH

Q@ ERBERRBEHISHRES 19,564F M
(E 3,794 B3 H4 9,508 —f%xMIR 6,262]

PRiRFA 2 AR A DOIEIZES
650,968 TH — 670,532 T = 19,564 TH

® RRRET 1Y —C 2B E 11208 H
(EFE 3,860 34 1,930 —#MIE 1,930)

AT E D RIAFHIEIZES
172,000FH — 179,720 T = 7,720 FH




@ FLIT7LIERERITELEE 4,807FH
(Ei# 4,807)
TURT AMFEE S RERITEIT
0FH — 4,807 M = 4,807FH
® FnihEX 51,867 F M
(2) ZBMHIE(14FE %)
A 239.423FH
[ BRI r# ]
30%&%@:%%75?%7%@»%@@ SUAEJE IS THUT T AZ LD TXAREFEEZ EHHLD,
% 5 HEL R Fp R b
Y 4 \ EFEBM DA RICEVEENICEE
PSR B 2 9,363 F 1 | o u o TR
TR e B 8,500 [ |#icmamtsic A ¥z B Ui,

s \

BER) RER o B ——
SRR A L (FREF X)) 50,500 [ |#i5e Lotz A 523 L7720,
BISTRBARER s | 3,500 [RlEELobn iy Fane

= = E DM IEICLDLDOTHY, FENIC

MLE | LB T AR AR T R 4807 Ty v <o,

W 75 L B e 2 45,500 F 1 [[ e EIES SR
JEE%*: 1 ‘fi% 14,300:F‘Fq 5@34%%&0)%%%@35%&%%Ltt
ERE R R R R 99,8001 [ = AL
SE R MR E R ] e
iR B S L 10,000 i | S5 BRI AES
iﬁ% ?EUII% ?ﬂ}”%ﬁ%ﬁ%%ﬁ% 12,100:F‘IIJ 5@3%%&0)%%%@35?&%%Ltk
B R EEE 13,326 1 [tz comizic sz s Lz,
W ERE SR 4,000 [ [Hcr o p sz m L0,
AR | AEERE MG LIS 11,154F H [Hoce oz Az B0,
T Hi K Y (1 HIK) 4,400 1| PR RIS A
TATHE S SR (S EIRATCT o 7 H) | 3,957 | AEOMIERICHRERLEL
=2 15 &) S p— st ey T$%.§ir:uz VEENOT
B EEP N T3 i 55 B Al T$%$Lt @rmm
g ng | DARRSCER IR 272,749 F M |5 e o
18 FH¥E &t 615,556 T4
(&% A AT A A ]
EH
1 AHIE R fHIE1%
2 AR R R R
A EALR L —dE T3 PRIl 375,000 FAR314FEEE[ 400,116

PR30 EE D TR & FIA B NEH L7220 | SR SRR D FIAZ DT




[t 75 (5 A 1 ]

G EFEATIREERE
(HA:TH)
EfED H Al 1IE R fHIERA Al IE 1%
KEFINFES 97,200 25,900 123,100
TS A C A 0 31,000 31,000
it 3,170,508 56,900 3,227,408
2 BEF25 TRHEE-HTERBERIRBEFIKITHETFE (F25)
BEAZREFTEMIE (FHIERTDZEE) (#H1EZH) ({IE2D%E)
9,867,070FH + 1,400FH =  9,868,470FH
T B EGERGCIN TR E)
b H MRS 5 T e | ol | W
i 1E %8 1,400 1,400
[ FHEOMIE]
D BHEENARBERAE 1,400FH
(MR 1,400)
= AT AL DN DI 0TH = 1,400FF9 --- 1,400 T-H

3 BEHIE THIFEZHWNEBERREXRFIZFAHETE (525)

BEAZREFTEMIE (#HIERTDEE) (##1EZE) (tHIERD%E)
7,281,652FMH + 8,816FH = 7,290,468FH
T B LRGN
b H MRS 5w T ek | 2ol | i
W IE%H 8,816 8,816
[T ROMIE]
DEEREE 2,258 FH
(—f&HR 2,258)
IR E R RE - oEIZED 35,920FH = 38,178 FH --- 2,258 H
Q@ NMERMTEEFESEBIS 6,558+ H
(%M 6,558)
PRER A FERE TR AZfT 4 D HTaR 82,622 FH = 89,180 FH --- 6,558 T H
I LAREL e D
4 BEFIS TROFE-—HMREREEERFERISHELETE(FE1S)
BEAZREFTEMIE (#HIERTDEE) (##1EZE) ({HIERDEE)
2,157,300FMH + 12,946 FH = 2170246FH
[HEZE LR ] _ (ifir: )
R [ AENG YN N )
" § RIES [ T itk | zof | e
A 1E 48 12,946 12,946
[ T ROMIE]
D e EEERLEESMTE 12,946 F M
(— TR 12,946)
ORI A AORE I 2,105,362 = 2,118,308 T -+ 12,946 T
DHNT 4 D HEAE



